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2. AI=22EHE

BIHAIE ¢ 2005

AP @ 204

sHTE - DEARDI2

OP=EINE+ Crol: M el)

e A g Xl = A g
g = Z0oH PS[E T[T =2 g = PNEIS PS[E[=pVELT =2

gt 3 1,461,439 593,000 868,439 | & y| 1,461,439 593,000 868,439
P - 0 140,000 140,000 | HI 8 Xt 4 AF L HI 140,000 141,770 A1,770
2 x 2 0 0 0|8 Xt& A b 0 0 0
P T 0 0 0lel & 2 o 0 0 0
Eollnma ) 0 0 0[7 = 7 o 0 0 0
HEZASs = 0 0 of ol & = 0 0 0
o X 238 % 943,969 150, 100 793.869|0 X 2 1,321,439 451,230 870,209
Oll = =2 0 0 O|lnuze2as 0 0 0
o X % 17,470 2,900 14,570|n+22e2ae 0 0 0
/=N -1 500,000 300,000 200,000{71 E X = 0 0 0




SIHASL  2025¢
Ol &t Xt 0 20l
SAHRE - DEARIIS

@ 2= ch9): ER)
Xt.3.58.2 AO|OH Slel= = 2} = od
otl'%—\ =] oh _J'k_OIOH =5 &ELH—I
200 M2l 517,470 302,900 214,570
210 ZAFAN 2= 17,470 2,900 14,570
216 O|Xt==gd 17,470 2,900 14,570
216-01 B30 20Xt 17,470 2,900 14,570
OJI1S2HE30IAt 17,470
—&J|012
230,000,000&*3.05% = 7,015
—ZJ|012
240,000,000&*3.05% = 7,320
—&J|012
440,000,000 *2.85%/ 12«3 & = 3,135
220 LAIEAN Ll 500,000 300,000 200,000
224 J|Et=gd 500,000 300,000 200,000
224-03 I3+ 500,000 300,000 200,000
OB |23
100,000&*4,000& = 400,000
OLNSANHXIEIIRE2 100,000
—ANIEEZ &8st 2)| &3
ol 223D
100,000&*1,000& = 100,000
700 ENM=ASLLHE AN 943,969 290, 100 653,869
710 284S 943,969 150, 100 793,869
714 OIXI238lz= 943,969 150, 100 793,869
714-01 OIXI=2&l = 943,969 150,100 793,869
O0lIxls =2l==
943,969,000 *14] = 943,969
= o & A 1,461,439 593,000 868,439




SIHAE - 20254
Oll&bXb 0 20
SIHRE ¢ DEARKSIIZ
® NEsAHE EERED
PPN | 99 . N xH l:|-_C'?_| k”l=lA|.0'| cIEHASZ Il = OH I‘;IL‘;:'E Hl_szI-
I T "o/ I TNB T 2o/ =4 Iléo—\H Usa
NSt 1,461,439 533,000 868,439
ANLHEE - THE XA 1,461,439 533,000 868,439
=M et= 140,000 141,770 21,770
DEAIDIZ AF (DEAIZDIZ) 140,000 0 140,000
EASEIMH AlE =& (BPESH 60,000 0 60,000
201 LBH2YH| 25,800 0 25,800
01 ArE2t2ltl 25,800 25,800 0 25,800
ORZE AEIFH HIE 3,000&*5,6000H = 16,800
OEASEIHH 222 HE 600&*3,00004 = 1,800
OFAM W =4 MEI| 22 L 2elsAl
100, 0002 *5IH 2+ 10JHE = 5,000
O8=ed MED| E28H ME 100,000& 704 = 700
OEEd M= &xl EtsHI 300,000 &*501 4 = 1,500
301 LEIBHF 2,000 0 2,000
14 JIEIBA= 2,000 2,000 0 2,000
OEtASEItH M+ ME 100,000 *200H = 2,000
402 QIZERHE0|A 10,000 0 10,000
01 QIZEXH2AI B A (XMIE) 10,000 10,000 0 10,000
OESd M=D| 2 XIA(SLUEL, BSH20EW)
(Bxg F%) 5,000,000 *2CH = 10,000
405 KHaEE S| 22,200 0 22,200
01 AL ESFSHI 22,200 22,200 0 22,200
OE=d] M=) (A2, 224, s)|=HE)
5,000,000&*3CH = 15,000
OZAZ EE21 MIZI| PY(AZEHT, BHLZAR)
3,600,000&*2CH = 7,200
SOHF X AR S AH| wHl XA (22424 80,000 0 80,000
402 DIZHRHE0|N 80,000 0 80,000
01 QIZIX2AIL B (RHAIE) 80,000 80,000 0 80,000
OS0H X AP0 S XY WHIXIJA(EESHN)
80,000,000 x14) = 80,000
HRES (LR 1,321,439 451,230 870,209
BEXES(DEAIIZ) 1,321,439 451,230 870,209
ISFSPNES 1,321,439 451,230 870,209




RN .22 . B OF - HIRAY - BAS ney | fo | vas2
602 OllXl= 1,321,439 451,230 870,209
01 BHHIXIS 1,321,439 1,321,439 451,230 870,209
O0lIxla 1,221,439,000&x14] = 1,221,439
OXHEIIEAY 0IXIZ 100,000
—ADEES 888 3)| &N B2 FD|
100,000, 0003 * 14} = 100,000
A = & A 1,461,439 533,000 868,439
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20193 DHA| 0 0 0 0
2020 = 0 0 0 0
20218 = 0 0 0 0
20228 &= 0 0 0 0
20238 = 437,819 0 176 388,057
20245 = 756,150 0 0 6,150 500,000
20258 = 517,470 0 17,470 500,000

Hl 1,711,439 0 23,796 1,388,057




o
K%
H
Ve
o
If
va
0x
=
A
o
(ol
Ol

SIHASL  2025¢
Ol &t Xt 0 20l
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A= e |HBHE| 88 | emsen | SR W3R |, oo | @®
ARl | AbHI | 2 O1=REl | 2l3ae | el3ae =
2019 T 0 0 0 0 0 0 0 0
20208 = 0 0 0 0 0 0 0 0
20218 0 0 0 0 0 0 0 0
20229 0 0 0 0 0 0 0 0
20239 & 0 0 0 0 0 0 0 437,819
20243 250,000 250,000 0 0 0 0 0 506,150
20259 & 140,000 140,000 0 0 0 0 0 377,470
Al 390,000 390,000 0 0 0 0 0 1,321,439




4. OiXlz & GIS= SAl

SIHSHET + 2025H
Ol & Xb= 0 20l &
SIARE : DSAIZIZ e M)
GIXl & GilEreH
7= OIXI(E6) A =] v
2023 =2 S XHH 0249 H@ | 2025EH =L EIHAD 52(0-®)
Bl 437,819 943,969 1,321,439 377,470
GIbNES, 2| 437,819 943,969 1,321,439 377,470
sg=y 437,819 943,969 1,321,439 377,470




